EREHEEGE  FRENO Y xR T

2
=
S
2
1

A 55 104

TR A e dOE R A JbiiEE A

IS B T



H

£

i =

1. THE4 HRHEEE  HFLEANO Y FXR T
2. A 1E B H B

3. THERT (H) At 4 sEATEE L (KP E 42.1)
() AbifE ) ATA R NT He2e (KP E 193.0)
(B At ) ERABIRT 58 i (Kp 0.0)
() AbiEE e AL A TR (kP 13.1)
()
(€D)
(B)
(€D)
(B)
=)
4. THNE
v -t 1, 862m EARET 1 8 T
& | 3, 381m PEAAHE T , 769K
DY HEL 1, 31 1m SRR T 634m
RL—r I T 2, 338ni PR T 40 11#
FHEK S 821m R 884nt
5. 8  # H 4Af 64 28 21H ~ T Af 84 ( 780 H[H)



T % % GERABHE HEENOY mxk L
H B fr | 4% il MMoBl N R
+T K| 1 16, 475, 136
PR T K1 14, 103, 368 | jE KR! 35 Jois
+ 35 o
Bt 1l 846 jonl
+ 846 o
st yE sl 3,381 it
W 3, 381 o
BT A1 2,371,768 |RE+ T 981 oty
A 181 o B 800 o
DY E T EVE 37, 550, 952
fAET K1 600, 708 |IE% 678 ot
678 ot
WAL A1 10,094,112 |=> 27 UV — kAT 252 nt
252 ot
a8 (EY) T K1 26,779,812 |ar 7 U—Fh7 v/ 381 ot
381 ot
HIADWEA 343 o
343 ot
HLAET 328 m
328 m
NZL x| 1 76,320 [SEAMNT 3 #
3 e
FAPEKEE Y A1 11, 725, 391
PPk T K1 6,923,905 |7 L&y A b APEAKTE 583 m
583 m
KAUGHTHT B Ak 72 8 m
8 m
BT K1 1,204, 755 | AHEKE 31 m
31 m
HFHEAK T 199 m
199 m
HEARET T EV 3,596, 731 |HEAKET 18 T
18 T
a7 U — MEEYMT A1 7,074, 024
ENY RN E 6,650,856 |7 U—k 155 o
c1-—1 11 o c2-1 144 o
< T EVINT 423,168 |F< 174 il
D 174 ot
R A R T A1 3, 487, 590
S ABS IEA T EVN 3,487,590 |7 AR5 LA 135 m
A 135 m
MET A1 403, 831, 794
WEMFREE L T A1 1,119,594 |z 7 U — RS BUE L 161 Jois




B " W P- 2
T % % DEREBHE #IAENOY mxlELE
LR
H B fr | 4% il MMoBl N R
161
Z O T x| 1 390,813,972 |A 2,338 il
A 907 e
A 7,134 A
B 635 A
EIXLIEIA 19 m
RiE LB 45 m
#ETLC 465 m
3 105 m
191 &
#EX Ty B 85 &
REHT 2 Y7 A 120 1
WESHT Y7 B 5 1
KA 5 FREA 104 g
K L0 5 kA 104 1§
A 161 m
B 161 m
KELL-00 5 3208 A 24 %
K L0 5 kA 24 1§
A 90 A
B 85 A
C 150 A
[ A= 884 nt
KA+ 5 RiEA 510 g
K LD 5 kA 510 1§
EEER)ZFLUES 150 15 m
EEER)ZFLUES 200 4 m
EBER)ZFLLUE6200A 8 m
EEER)ZFLUE G400 20 m
EEER)ZFLUEG 600 17 m
EEERYZFLLUES 1000 10 m
KE+DH A 16 g
KE+DH B 11 g
KEI+-DH C 60 g
KEA-DH D 767 g
ARTARE D A 12 1§
TR [E D B 8 S
TR [E & C 104 1§
PulL-+-0. 30+0. 30 15 m
PulL-+-0. 45+-0. 45 2 m
U-0. 30-0. 30 386 m
U-0. 45-0. 45 121 m




T % % ERABHE HEENO D mk LH
LR
H B fr | 4% i MMoBl N R
U-0. 60-0. 60 6 m
Dc0O. 50-0. 50+0. 50 6 T
DcO. 70+-0. 70-0. 70 1 &R
DCO. 80+-0. 80-0. 80 2 &R
DCO. 80-0. 80+2. 00 1 T
DC (D) 0. 5-0. 5+0. 5 1 T
A HL ) T EVI 11,047,311 |BEHH L XN 117 Al
117 5]
HRRHH L XN XM 12 5]
12 5]
R LTS K| 1 850,917 |RiBFAHEEFEB 41 NG
41 A-H
B THE &t EV 480, 144, 887
Ik T A |1 26, 096, 121
Hefig T & K |1 20, 147, 348 | T2 A A RKR% (& il 2 1 =
Z DA o> Ui T2 1 =
METHE A |1 5,948, 773 | (PR 1 =
Z DOMHE T F 1 =
EETHEE F K |1 506, 241, 008
Heim (% EVR 68, 974, 843
m iR X |1 3,971,843 | TH RIS T £ 1 =
IR TR 1 =
A 1 =
B 1 =
c 1 7
e B K |1 65, 003, 000
Bl E Bt K |1 153, 410, 000
M THEE § K |1 222, 384, 843
T K |1 728, 625, 851
—RE R E K |1 93, 554, 149
T {iAs K |1 822, 180, 000




